[+o]

[c2]

2A+B=2(x>—3x+5)+(24°+4x—3) =24>—6x+10+24°+4x—3
=(2x242x%) +(—6x+4x)+(10—3) =4x*—2x+7
A—B+22A+B)=A—B+4A+2B=5A+B=5(x>—3x+5)+(2x%+4x—3)
=5x%—15x+25+2x%+4x—3
=(5x%4+2x%) +(—15x4+4x)+(25—-3)=7x>—11x+ 22

2x9(3x—y)=2xy-3x+2xy-(—y) =6x%y—2xy°
(5x+29)*=(5x)*+2-5x-2y+(2y)* =25x%+ 20xy + 4 *
(x+3)x—4)=22+B3—4)x+3-(—4)=x2—x—12
(2a—5)2a+5)=(2a)*—5*=4a*—25

6a’b+3ab®=3ab-2a+3ab-b=3ab(2a+0)
22 —8x416=242—2-x-4+4°=(x—4)*
a’?—10ab+25b*=a’*—2-a-5b+(5b)*=(a—5b)*

9x2—16 =(3x)?— 4% =(3x+4)(3x — 4) (6)

22=Tx+10=224+(—2—-5)x+(—2)-(=5) 1 —2 — —4
=(x—2)x—5) 2 >< —3 — -3

242 —Tx+6=(x—2)2x—3) 2 6 7

3VT ++4/3 =57 +2/3 =(3—5)W7 +(1+2)/3 =33 =27

VA5 =4/32x5 =35, 20 =/2°X5 =25 THHM b

V5 —+/45 +4/20 =5 =35 +25 =(1-3+2)\/5 =0

V2T =4/32x3 =33, J12 =/2°X3 =23 Th DN b

V27T =212 453 =33 —2%2/3 +53 =33 —4/3 +5/3
=(3—445)/3 =43

V50 =+/52%2 =52, /32 =/42x2 =42, 72 =/6°X2 =62 THDHNB

4/50 —24/32 —\/72 =4X5/2 —2% 42 —6/2 =20/2 —8/2 —6./2
=(20—8—6)/2 =62

%—f— B /B =V 8 =25 6 =§

2 VT B3 Zxy3
Jo+v8 VB (B AvBIWE —V3)  VBXA3

_ 2623 6 _2/6-2/8 6 _6-2/3
TWEP—(B)E BE 3 3 - 3




1) BETHE  Srta>12 EoT  6x>12
% 6 CTHEl-> T x>2
2) BmEITDLE 3x—2x>7—1 r-oT x>6
(3) Mo ZHRIZTLT 2x—12=5x BIEHT L L 2x—5x=>12
£oT —3x=12 Mz —3 TH- T x<—4
4) Mo HEITT LT 3x+6=4x—14 BETH & 3x—4x<—4—6
Lo T —x=<-10 % —1 CTE- T x=10

[6] 1) y=x?—2x4+3=(x—12—1243=(x—1)%+2
2) y=2x2—8x+3=2x*—4x)+3=2{(x—2)2—24+3
=2(x—2)*—2-2243=2(x—2)?=5
3) y=—x"—10x+15=—(x24+10x) +15=—{(x+ 554+ 15
= —(x+5)+52+15=—(x+5)*+40

(1) EBZEREBEST DL 2(x—3)=0

Lo T x=0 ZE7iL x—3=0
Lo T, ZO2WGBEAOMIT =0, 3

2) EDZERBES DL (x+2)x+5)=0
Lo T 2+2=0 F72iX x+5=0
Lo T, ZO2WGBEAOMIT x=-2, =5

Q) EBERBES DL (x+3)x—4)=0
Lo T 2+3=0 F7ix x—4=0
L7elo>T, ZoO2WIFBRXOMT »=-3, 4

I R A LY T R R EANL
L) x= 21 T2

_ —(=5)++/(=5%2—4-2-1 5417
& #= 22 4



[9] (1) x2—3x—10=0 #f#< & x=-2, 5

£oT, Z02WRAREXDMHEIL —2<x<5

2) x24+8x—9=0 &2fif< & xr=-9, 1
X oT, 20 2RAREXRDOMRIT r<—-9, 1<«

3) 2 —x—1=0 %< & x=1i\/g

LT, ZD2kAFEXDMZL

x<1—2\/§’ 1+2«/§

<zx

4) x2+8x+16=(x+4)?
y=(x+4?* DV T 7% x=—4 T x#IHET 2,
LT, 22 48x+16<0 OfifIT 7o\

5) x*—dx+6=(x—2)7%+2
y=(x—22*+2 D77 71X x D FANZH B,
LoT, 22—4x+6>0 OfRIT T XTOEK

=N _/5 -
@)

i T *
) \

7 x
J5

R



11 1) AOKOEE2 DM ETyBEEN]1 THD V1
2:5P, QxLD,

k% 01%  LAOP & LAOQ o I o

EoT  0=30° 150° AN
-2 0O 2x
2) HDOOHRE2 DHM T x JEEN /3 Th D y
NPAELED, 2
K% 011 LAOP ///—2 b
FoT =30 o\
-2 Q] V3|2«
3) —1=—r Ths, ¥
2
BORD LS ol —1, y R 1 THBRPEED, L Oh
K% 01%  LAOP A%
o 45N A,
EoT  6=135 A
1) EREFne —e 9pR
sin 45
2 1 o2
EoT R s Tamdr S 1% V2
@) FREEN b ____ 3
sin 45° sin 60°
e _3511]45 _3XLX :\/g

=S X7 X5

(3) RILEHNG

1

a’=b*+c*—2bccos A =2*+4*—2-2-4cos60° :4+16—16-7:12

a>0 ThiHrmb a=+12 =23

4)  AEEEICLY
b+c’—a®  345°—7° 9425-49 15 1

2bc - 2.3.5 30 TR
Lo T  A=120°

COSA =

6)s:%mgmB=%wﬁimmmm=%wﬁiz%§=ﬁ-



100 LT o B R oL e 2R ES U £ 15,
1) 2 DfEHEROESE A, 3DOERERDELSE B LT 5L
A={2-1, 2.2, . , 2:50) 725 m(A)=50
B={3-1, 3.2, - , 3-33} 5 n(B)=33
2 DIEED 3 DERTHLBEEDERITANB THY, 2 DEKE-13 3 OfEHT
HOBEEROERITAUB TH D,
H£E5 ANBIL2 & 3 D5/INAER 6 OEHBEERDERTH LMD
ANB={6-1, 6:2, - , 6-16)
ro>T n(AnB)=16
L7=D- T, Koo D%
n(AUB)=n(A)+n(B)—n(ANB) =50+33—16 =67 ({#)
2) 6 DR EARECLTHE C={6-1, 6-2, - , 6-16)
EoT n(C)=16
6 DL TRVWEEKROERIT C Th D,
L7=RoT, koaMEnt  #(C)=nU) —n(C) =100—16 =84 ()

<1> 8P3=8'7'6=336 <2> 4P1=4 <3> 10P4=10'9'8'7=5040
4 ,P,=7-6-5-4-3-2-1=5040 5) 8!'=8.7-6:-5-4-3-2-1=40320
7-6 8-7-6 9.8
(6> 7C2=ﬁ=21 <7> 8C3=m=56 <8> 9C7=9C9—7=9C2=ﬂ=36
9 4C1:4 (10) 6C6:1 (11) 16C15:16C16—15:16C1:16

(7—1)!'=6!=6-5-4-3-2-1=720 (1&@"Y)

1) 6HDIEAIZED 3 b —ER BT ARV ND, SHEDAE 1 HRO TS E =AE
N1ETE D,
£oT, TXZ=AFOMEEL

6-5-4

2) 6MEDTASEND 2{HD %2 1 RO THESERDN 1 ARTE 5,
Ko T, TEXHMOyOARET

_6.5_
=57

(3) (2) TROMSDARMN S, EARBBODOR6 23T L0,
X oT, RDDIXABOAEIT
15—6=9 & 9K

6Cs

6Ca 15 15 A&



1 XlfEde Z & 2—>T, b1 XlfEdeZ & %

T%%B
1T
A5 BE T REORINL, —4EL 1 30 1
IFICE S, 1
—a N A%

FoC, kb BRI OEIROREKI

7 7.6.5 e

I3 3201 ® 35189

2HOENWZADHOHGIIEIMT 6X6=36 (@)
SWZAZA, BLL, ADHZ a, BOH®BbOIZHZ L% (a, b) TET,
1) BOTNR 71272556151, 6), (2, 5), (3, 4), (4, 3), (5, 2), (6, )D6EY &
P
Do £oT, KRDDOMERIT %6 =6
2) BOMEN 121272556132, 6), (3, 4), (4, 3), (6, 2)D 4@V H D,
b nmers AL
LT, KRODMERIT 36 =9
R2ERRCATHLD] L) R,
2HEELHFETHDL LWVWOIHERA RHEELAETHL) LWVWOIHERB
DIHFLZ AUB Th %,
G _ 3 g _iCo_ 6
—.,C, 21’ P<B>_7c2_21
AL BIFAWIHERTH D00, Kb DHHERIL

3 6 9 3
PAUB)=P(A)+P(B) =5y +5r =5 =

#H5 A, B OWMERIZL P(A)



